OSCILLATION AND GLOBAL ATTRACTIVITY IN A PERIODIC DELAY EQUATION

J. R. GRAEF, C. QIAN AND P. W. SPIKES

ABSTRACT. Consider the delay differential equation

 $\dot{x}(t) = -\alpha(t)x(t) + \beta(t)e^{-x(t-m\omega)}, \quad t \ge 0.$

where $\alpha(t)$ and $\beta(t)$ are positive, periodic, and continuous functions with period $\omega > 0$, and *m* is a nonnegative integer. We show that this equation has a positive periodic solution $x^*(t)$ with period ω . We also establish a necessary and sufficient condition for every solution of the equation to oscillate about $x^*(t)$ and a sufficient condition for $x^*(t)$ to be a global attractor of all solutions of the equation.

1. Introduction. Our aim in this paper is to investigate the asymptotic behavior of solutions of the nonlinear delay differential equation

(1.1)
$$\dot{x}(t) = -\alpha(t)x(t) + \beta(t)e^{-x(t-m\omega)}, \quad t \ge 0,$$

where $\alpha(t)$ and $\beta(t)$ are positive, periodic, and continuous functions with period $\omega > 0$, and *m* is a nonnegative integer. We will first show that equation (1.1) has a positive periodic solution $x^*(t)$ with period ω . Then we will establish a necessary and sufficient condition for every solution of equation (1.1) to oscillate about $x^*(t)$ and a sufficient condition for $x^*(t)$ to be a global attractor of all solutions of equation (1.1).

When $m\omega = \tau$, $\alpha(t) \equiv \alpha$, and $\beta(t) \equiv \beta\gamma$ with α , β , and γ positive constants, equation (1.1) reduces to the autonomous equation

(1.2)
$$\dot{y}(t) = -\alpha y(t) + \beta e^{-\gamma y(t-\tau)}, \quad t \ge 0$$

where $y(t) = x(t)/\gamma$. Equation (1.2) was used by Wazewska-Czyzewska and Lasota [10] as a model for the survival of red blood cells in an animal; see also Arino and Kimmel [1]. Here y(t) denotes the number of red blood cells at time t, α is the probability of death of a red blood cell, β and γ are positive constants related to the production of red blood cells per unit time, and τ is the time required to produce a red blood cell. The oscillation and the global attractivity of equation (1.2) has been studied by Kulenovic and Ladas [5], and by Kulenovic, Ladas and Sficas [6], respectively; see also Györi and Ladas [3].

Recently, the asymptotic behavior of solutions of some periodic population models has been studied, for example, in Gopalsamy, Kulenovic and Ladas [2], Zhang and

The first and third authors were supported by the Mississippi State University Biological and Physical Sciences Research Institute.

Received by the editors December 20, 1994.

AMS subject classification: 34K20, 92D25.

Key words and phrases: oscillation, global attractivity, periodic solution, delay differential equation.

[©] Canadian Mathematical Society, 1996.

Gopalsamy [11], and Lalli and Zhang [7]. As stated in [7], the effects of a periodically varying environment are important for evolutionary theory as the selective forces on systems in a fluctuating environment differ from those in a stable environment. Thus, the assumptions of periodicity of the parameters are a way of incorporating the periodicity of the environment. It has been suggested by Nicholson [8] that any periodic change of climate tends to impose its period upon oscillations of internal origin or to cause such oscillations to have a harmonic relation to periodic climactic changes. In view of this, it is realistic to assume that α and β are periodic functions of period ω and that the delay is an integral multiple of the periodicity of the environment. Hence, we are motivated to investigate the asymptotic behavior of solutions of the periodic delay differential equation (1.1).

2. Existence of positive periodic solutions. In this section, we study the existence of periodic solutions of equation (1.1). The result is the following.

THEOREM 1. Equation (1.1) has a positive periodic solution $x^*(t)$ with period ω .

PROOF. First, consider equation (1.1) without delay, that is,

(2.1)
$$\dot{x}(t) = -\alpha(t)x(t) + \beta(t)e^{-x(t)}, \quad t \ge 0.$$

Observe that there is a unique r(t) > 0 such that

$$-\alpha(t)r(t) + \beta(t)e^{-r(t)} = 0 \quad \text{for } t > 0.$$

Set

$$A = \min_{0 \le t \le \omega} \{r(t)\} \text{ and } B = \max_{0 \le t \le \omega} \{r(t)\}.$$

and let $x(t) = x(t, 0, x_0)$ denote the unique solution of equation (2.1) through $(0, x_0)$. We claim that

 $x_0 \in [A, B]$ implies that $x(t) = x(t, 0, x_0) \in [A, B]$.

We first show that $x(t) \leq B$. Otherwise,

$$t^* = \inf\{t > 0 : x(t) > B\} < \infty.$$

Then, it is easy to see that there exists a $t_1 > t^*$ such that

$$x(t_1) > B$$
, and $x'(t_1) > 0$.

Hence, it follows from (2.1) that

$$0 < x'(t_1) = -\alpha(t_1)x(t_1) + \beta(t_1)e^{-x(t_1)}$$

$$\leq -\alpha(t_1)B + \beta(t_1)e^{-B}$$

$$\leq -\alpha(t_1)r(t_1) + \beta(t_1)e^{-r(t_1)} = 0.$$

276

which is a contradiction. Hence, $x(t) \le B$. By a similar argument, we can show that $x(t) \ge A$ also. Thus, in particular,

$$x_{\omega} = x(\omega, 0, x_0) \in [A, B].$$

Now define a mapping $F: [A, B] \rightarrow [A, B]$ as follows: for each $x_0 \in [A, B]$

$$F(x_0) = x_\omega$$
.

Since the solution $x(t, 0, x_0)$ depends continuously on the initial value x_0 , the mapping F is continuous and maps the interval [A, B] into itself. Therefore, F has a fixed point x_0^* by Brouwer's fixed point theorem. Thus, the unique positive solution $x^*(t) = x(t, 0, x_0^*)$ is periodic with period ω .

Finally, by noting that $x^*(t) = x^*(t - m\omega)$, we see that $x^*(t)$ is also a periodic solution of equation (1.1). This completes the proof.

REMARK 1. From the proof of the theorem, we see that $x^*(t)$ satisfies

$$A \leq x^*(t) \leq B$$

which gives an estimate for the location of the periodic solution. Clearly, when $\alpha(t)$ and $\beta(t)$ are both constants, then A = B and so $x^*(t) \equiv A$ becomes a positive equilibrium of equation (1.1).

3. Oscillation of equation (1.1). In this section, we study the oscillatory behavior of solutions of equation (1.1). The following theorem is our main result.

THEOREM 2. Every solution of equation (1.1) oscillates about $x^*(t)$ if and only if

(3.1)
$$\exp\left(\int_0^{m\omega} \alpha(t) \, dt\right) \int_0^{m\omega} \beta(t) e^{-x^*(t)} \, dt > \frac{1}{e}.$$

PROOF. Let x(t) be a solution of equation (1.1) and let $x(t) - x^*(t) = y(t)$. Then equation (1.1) reduces to

(3.2)
$$\dot{y}(t) + \alpha(t)y(t) + \beta(t)e^{-x^*(t)}[1 - e^{-y(t-m\omega)}] = 0.$$

Clearly, x(t) oscillates about $x^*(t)$ if and only if y(t) oscillates about zero.

Set $g(u) = 1 - e^{-u}$. By noting that

$$g'(u) = e^{-u} > 0$$
 and $e^{-u} \ge 1 - u$

for any *u*, we see that

$$g(u) \le g'(0)u \quad \text{for } u > 0.$$

Hence, by the linearized oscillation theorem established in [4], it follows that every solution of equation (3.2) oscillates if and only if every solution of the equation

(3.3)
$$\dot{z}(t) + \alpha(t)z(t) + \beta(t)e^{-x^*(t)}z(t-m\omega) = 0$$

oscillates. Next, observe that the oscillation invariant transformation

$$w(t) = z(t) \exp\left(\int_0^t \alpha(s) \, ds\right)$$

reduces equation (3.3) to

$$\dot{w}(t) + Q(t)w(t - m\omega) = 0$$

where

$$Q(t) = \exp\left(\int_0^{m\omega} \alpha(t) \, dt\right) \beta(t) e^{-x^*(t)}.$$

It is well-known, for example, see [3, p. 42], that every solution of equation (3.4) oscillates provided

$$\lim_{t\to\infty}\int_{t-m\omega}^t Q(s)\,ds>\frac{1}{e},$$

and that equation (3.4) has a positive solution if

$$\sup_{t\geq m\omega}\int_{t-m\omega}^t Q(s)\,ds\leq \frac{1}{e}.$$

Hence, by noting that Q(t) is periodic with period ω , we see that every solution of equation (3.4) oscillates if and only if

$$\int_0^{m\omega} Q(s)\,ds > \frac{1}{e},$$

that is, (3.1) holds. This completes the proof.

4. Global attractivity of equation (1.1). In this section, we study the global attractivity of equation (1.1). The following lemma extracted from [9] with a slight modification is needed in the proof of our main result.

LEMMA 1. Consider the difference equation

where

$$h \in C^1[R,R].$$

Assume that h is a nonincreasing function and has a unique fixed point A^* . Suppose also that

$$h(\infty) = \lim_{u \to \infty} h(u)$$

exists and that

$$h'(u)h'(h(u)) < 1$$
 for $u > A^*$

Then the solution $\{A_n\}$ of equation (4.1) with $A_0 = h(\infty)$ tends to A^* as n tends to ∞ .

Our main result in this section is the following.

278

THEOREM 3. Assume that

(4.2)
$$\int_0^{m\omega} \beta(t) e^{-x^*(t)} dt \le 1.$$

Then every solution of equation (1.1) tends to $x^*(t)$ as t tends to ∞ , that is,

(4.3)
$$\lim_{t \to \infty} [x(t) - x^*(t)] = 0.$$

PROOF. Since the transformation $y(t) = x(t) - x^*(t)$ reduces equation (1.1) to

(4.4)
$$\dot{y}(t) = -\alpha(t)y(t) + \beta(t)e^{-x^*(t)}(e^{-y(t-m\omega)} - 1),$$

it suffices to show that every solution of equation (4.4) tends to zero as t tends to ∞ .

First, we show that every nonoscillatory solution of equation (4.4) tends to zero. We assume that y(t) is eventually positive; the proof for the case y(t) eventually negative is similar and will be omitted. Since y(t) > 0 eventually, from (4.4) we see that there is a T > 0 such that

$$\dot{y}(t) < 0 \quad \text{for } t > T,$$

and so there exists a constant $l \ge 0$ such that $\lim_{t\to\infty} y(t) = l$ and

$$\dot{y}(t) \leq -l\alpha(t) + \beta(t)e^{-x^*(t)}(e^{-t} - 1) \quad \text{for } t \geq T + m\omega.$$

Hence, it follows that

$$l-y(T+m\omega)\leq -l\int_{T+m\omega}^{\infty}\alpha(t)\,dt,$$

which, clearly, implies that l = 0.

Next, assume that y(t) oscillates. We claim that for any $n \ge 0$, there exists a constant $T(n) \ge 0$ such that

(4.5)
$$y_{2n} \le y(t) \le y_{2n+1}$$
 for $t \ge T(n)$

where $\{y_n\}$ is defined by

$$\begin{cases} y_{n+1} = \left(\int_0^{m\omega} \beta(t) e^{-x^*(t)} dt\right) (e^{-y_n} - 1) \\ \dot{y}_0 = -\int_0^{m\omega} \beta(t) e^{-x^*(t)} dt. \end{cases}$$

Since y(t) oscillates, there is an increasing sequence $\{t_n\}$ such that

(4.6) $t_{n+1} - t_n \ge 2m\omega + 1$ and $y(t_n) = 0$ for n = 0, 1, ...

Let $s_n \in (t_n, t_{n+1})$ be a point where y(t) obtains its local maximum or local minimum in (t_n, t_{n+1}) . Hence, $\dot{y}(s_n) = 0$ and it follows from equation (4.4) that

$$-\alpha(s_n)y(s_n) + \beta(s_n)e^{-x^*(s_n)}(e^{-y(s_n-m\omega)}-1) = 0,$$

which implies that

$$y(s_n)y(s_n-m\omega)<0, \quad n=0,1,\ldots$$

Hence, there is a $\xi_n \in (s_n - m\omega, s_n)$ such that

(4.7)
$$y(\xi_n) = 0, \quad n = 0, 1, \dots$$

From equation (4.4) we find that

$$\frac{d}{dt}[y(t)e^{\int_0^t \alpha(s)\,ds}] = \beta(t)e^{\int_0^t \alpha(s)\,ds}e^{-x^*(t)}(e^{-y(t-m\omega)}-1).$$

Then, by integrating both sides of this equation from ξ_n to s_n and by noting (4.7), we see that

(4.8)
$$y(s_n)e^{\int_0^{s_n}\alpha(s)\,ds} = \int_{\xi_n}^{s_n}\beta(t)e^{\int_0^t\alpha(s)\,ds}e^{-x^*(t)}(e^{-y(t-m\omega)}-1)\,dt$$
$$\geq -e^{\int_0^{s_n}\alpha(s)\,ds}\int_{\xi_n}^{s_n}\beta(t)e^{-x^*(t)}\,dt$$
$$\geq -e^{\int_0^{s_n}\alpha(s)\,ds}\int_0^{m\omega}\beta(t)e^{-x^*(t)}\,dt,$$

and so

$$y(s_n) \ge -\int_0^{m\omega} \beta(t) e^{-x^*(t)} dt = y_0 \text{ for } n = 0, 1, \dots$$

Hence, it follows that

(4.9)
$$y(t) \ge y_0 \quad \text{for } t \ge t_0.$$

By noting the decreasing nature of e^{-u} and by using (4.9) in (4.8), we find that

$$y(s_n)e^{\int_0^{s_n}\alpha(s)\,ds} \leq e^{\int_0^{s_n}\alpha(s)\,ds} \Big(\int_0^{m\omega}\beta(t)e^{-x^*(t)}\,dt\Big)(e^{-y_0}-1).$$

and so

$$y(s_n) \leq \left(\int_0^{m\omega} \beta(t)e^{-x^*(t)} dt\right)(e^{-y_0}-1) = y_1 \text{ for } n = 1, 2, \dots$$

Hence,

 $y(t) \le y_1$ for $t \ge t_1$

and so

$$y_0 \leq y(t) \leq y_1$$
 for $t \geq t_1$.

Now assume that

(4.10)
$$y_{2k} \le y(t) \le y_{2k+1}$$
 for $t \ge t_{2k+1}$.

Then, by using (4.10) in (4.8), we find that

$$y(s_n)e^{\int_0^{s_n}\alpha(s)\,ds} \geq e^{\int_0^{s_n}\alpha(s)\,ds} \Big(\int_0^{m\omega}\beta(t)e^{-x^*(t)}\,dt\Big)(e^{-y_{2k+1}}-1),$$

and so

$$y(s_n) \ge \left(\int_0^{m\omega} \beta(t) e^{-x^*(t)} dt\right) (e^{-y_{2k+1}} - 1)$$

= $y_{2(k+1)}, \quad n = 2(k+1), \quad 2(k+1) + 1, \dots,$

280

Hence,

(4.11)
$$y(t) \ge y_{2(k+1)}$$
 for $t \ge t_{2(k+1)}$.

By using (4.11) in (4.8) we find that

$$y(s_n)e^{\int_0^{s_n}\alpha(s)\,ds} \leq e^{\int_0^{s_n}\alpha(s)\,ds} \Big(\int_0^{m\omega}\beta(t)e^{-x^*(t)}\,dt\Big)(e^{-y_{2(k+1)}}-1),$$

and so

$$y(s_n) \leq \left(\int_0^{m\omega} \beta(t)e^{-x^*(t)} dt\right)(e^{-y_{2(k+1)}} - 1)$$

= $y_{2(k+1)+1}, \quad n = 2(k+1)+1, \quad 2(k+2), \dots$

Hence,

$$y(t) \le y_{2(k+1)+1}$$
 for $t \ge t_{2(k+1)+1}$,

and so

$$y_{2(k+1)} \le y(t) \le y_{2(k+1)+1}$$
 for $t \ge t_{2k+1}$.

Therefore, by induction, we see that (4.5) holds.

Now, we claim that

$$\lim_{n\to\infty}y_n=0.$$

To this end, set

$$h(u) = \left(\int_0^{m\omega} \beta(t) e^{-x^*(t)} dt\right) (e^{-u} - 1).$$

Then,

$$h'(u) = -\left(\int_0^{m\omega} \beta(t)e^{-x^*(t)} dt\right)e^{-u},$$

and so

(4.12)
$$h'(u)h'(h(u)) = \left(\int_0^{m\omega} \beta(t)e^{-x^*(t)} dt\right)^2 e^{-(u+h(u))}.$$

Observe that

$$u + h(u) = u + \left(\int_0^{m\omega} \beta(t) e^{-x^*(t)} dt\right) (e^{-u} - 1),$$

which, in view of (4.2) and the fact that $e^{-u} \ge 1 - u$, implies that

$$u + h(u) \ge u + (e^{-u} - 1) > 0$$
 for $u > 0$.

Hence, it follows from (4.12) that

$$h'(u)h'(h(u)) < \left(\int_0^{m\omega} \beta(t)e^{-x^*(t)} dt\right)^2 \le 1 \quad \text{for } u > 0,$$

and so by Lemma 1,

$$\lim_{n\to\infty}y_n=0.$$

Then, in view of (4.5), we see that

$$\lim_{n\to\infty}y(t)=0.$$

This completes the proof.

REMARK 2. Set $x(t) = \gamma y(t)$. Then equation (1.2) reduces to

(4.13)
$$\dot{x}(t) = -\alpha x(t) + \beta \gamma e^{-x(t-\tau)}, \quad t \ge 0.$$

equation (1.2) has a unique positive equilibrium y^* and so $x^* = \gamma y^*$ is the unique positive equilibrium of equation (4.13). Clearly, every solution of equation (1.2) oscillates about y^* if and only if every solution of equation (4.13) oscillates about x^* ; every solution of equation (1.2) tends to y^* if and only if every solution of equation (4.13) tends to x^* . Hence, by employing Theorem 2, we see that every solution of equation (1.2) oscillates about y^* if and only if

(4.14)
$$e^{\alpha \tau} \beta \gamma \tau e^{-\gamma y^*} > \frac{1}{e}.$$

Since $\alpha y^* = \beta e^{-\gamma y^*}$, (4.14) is equivalent to

(4.15)
$$\alpha\gamma\tau y^*e^{\alpha\tau} > \frac{1}{e}.$$

It has been shown in [5] that (4.15) is a necessary and sufficient condition for every positive solution of equation (1.2) to oscillate about y^* .

By employing Theorem 3, we see that every solution of equation (1.2) tends to y^* as *t* tends to ∞ provided

$$\beta \gamma \tau e^{-\gamma y^*} \leq 1$$

that is,

$$(4.16) \qquad \qquad \alpha \gamma \tau y^* \leq 1.$$

It has been shown in [6] that if

$$(4.17) \qquad \qquad \exp(\gamma y^*(1-e^{-\alpha\tau})) < 2$$

then every positive solution of equation (1.2) tends to y^* as t tends to ∞ . Clearly, (4.16) is a different condition from (4.17).

EXAMPLE 1. Consider the delay differential equation

(4.18)
$$\dot{x}(t) = -\frac{x(t)}{2\pi \ln(e+1+\sin t)} + \frac{e+1+\sin t+2\pi\cos t}{2\pi}e^{-x(t-2\pi)}.$$

It is easy to check that $x^*(t) = \ln(e + 1 + \sin t)$ is a periodic solution of equation (4.18) with period 2π . Observe that

$$\exp\left(\int_{0}^{2\pi} \frac{1}{2\pi \ln(e+1+\sin t)} dt\right) \left(\int_{0}^{2\pi} \frac{e+1+\sin t+2\pi \cos t}{2\pi} e^{-x^{*}(t)} dt\right)$$

= $\exp\left(\int_{0}^{2\pi} \frac{1}{2\pi \ln(e+1+\sin t)} dt\right) \left(\int_{0}^{2\pi} \frac{1}{2\pi} \left(1+\frac{2\pi \cos t}{e+1+\sin t}\right) dt\right)$
 $\ge \int_{0}^{2\pi} \frac{1}{2\pi} \left(1+\frac{2\pi \cos t}{e+1+\sin t}\right) dt$
= $1 \ge \frac{1}{e}$.

Hence, by Theorem 2, every solution of equation (4.18) oscillates about $x^*(t)$. Also, observe that

$$\int_0^{2\pi} \frac{e+1+\sin t + 2\pi\cos t}{2\pi} e^{-x^*(t)} dt = \int_0^{2\pi} \frac{1}{2\pi} \left(1 + \frac{2\pi\cos t}{e+1+\sin t}\right) dt = 1$$

Hence, by Theorem 3, every solution of equation (4.18) tends to $x^*(t)$ as t tends to ∞ .

REFERENCES

- 1. O. Arino and M. Kimmel, *Stability analysis of models of cell production system*, Math. Modelling 17(1986), 1269–1300.
- 2. K. Gopalsamy, M. R. S. Kulenovic and G. Ladas, *Environmental periodicity and time delays in a "food-limited" population model*, J. Math. Anal. Appl. 147(1990), 545–555.
- 3. I. Györi and G. Ladas, Oscillation Theory of Delay Differential Equations with Applications, Oxford Univ. Press, Oxford, 1991.
- 4. V. Kocic, G. Ladas and C. Qian, *Linearized oscillations in nonautonomous delay differential equations*, Differential Integral Equations 6(1993), 671-683.
- 5. M. R. S. Kulenovic and G. Ladas, *Linearized oscillations in population dynamics*, Bull. Math. Biol. **49**(1987), 615–627.
- M. R. S. Kulenovic, G. Ladas and Y. G. Sficas, *Global attractivity in population dynamics*, Comput. Math. Appl. 18(1989), 925–928.
- 7. B. S. Lalli and B. G. Zhang, On a periodic delay population model, Quart. Appl. Math. LII(1994), 35-42.
- 8. A. J. Nicholson, The balance of animal population, J. Animal Ecology 2(1933), 132-178.
- 9. C. Qian, Global attractivity in nonlinear delay differential equations, J. Math. Anal. Appl. 197(1996), 529–547.
- 10. M. Wazewska-Czyzewska and A. Lasota, Mathematical problems of the dynamics of red blood cells system, Ann. Polish Math. Soc., Series III, Appl. Math. 17(1988), 23–40.
- B. G. Zhang and K. Gopalsamy, *Global attractivity and oscillations in a periodic delay logistic equation*, J. Math. Anal. Appl. **150**(1990), 270–283.

Department of Mathematics and Statistics Mississippi State University Mississippi State, Mississippi 39762 U.S.A.